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Three Addends (2 Digit)

Name:

Solve each of the problems.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

76 +57+ 26 =

90+90+30=

27+25+80=

63+ 69+ 79=

23+15+13=

63+ 37+99 =

31+14+79=

58+ 38+ 67 =

87+17+25=

46+97+16=

12+12+32=

48 + 47 + 91 =

55+28+99 =

82+45+90=

Answers

10.

11

12.

13.

14.
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ﬂh Three Addends (2 Digit) Name.Answer Key

Solve each of the problems. Answers
1) 76+57+26= 159 159
1.
2) 90+90+30= 210 2. 210
3, 132
3) 27+25+80= 132
4 211
4) 63+69+79= 211 5, 51
6. 199
5 23+15+13= 51
7 124
6) 63+37+99= 199 . 163
129
7)) 31+14+79= 124 9.
10. 159
8) 58+38+67= 163 3 -
9 87+17+25= 129 12 186
13, 182
10) 46+ 97 +16= 159
14, 217
11) 12+12+32= 56
12) 48+ 47 +91= 186
13) 55+28+99= 182
14) 82 +45+90= 217
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Three Addends (2 Digit)

Name:

Solve each of the problems.

Answers

{

159
129

132 163
159 211

210
124

199
51 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

76+57+26=

90+90+30=

2(+25+80=

63+ 69+ 79=

23+15+13=

63+ 37+99=

31+14+79=

58+ 38+67 =

87+17+25=

46+97+16=

10.

M odified
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